1
@ y=-2x @y:—zxz

1
® y=3x2 @y:§x2

12
@yflgx
® y= ¥

0Dee @0 006 ®o0oe 6606




TR
—_—

'yl\

—4

® y=-3x2
@ y=-2x2



@ (0,-2) ® (3,0)

@ (0,0)

® (-2,0)

@ (0,3)






Aty = - o o] itk droltt. the BV F &2

x o] ol T7F m, x> 0 1 ol y o gk




A=y 5 gFoR 4
@ y=-3x*-4

o,
okt



@ x>0 2 o, x & grol S7Fsd y o F= S71ei
® yo] gt Hel=(y |y > —4) o]t}



@ © ® ©
® @

©a
® @



yll

i

@ A P(0,4) ©12, & R(0,-1) o]t}

© A Q(2,0) °1aL, A S(-2,0) oIt

@ APRS =5, AQPR = 8 o]t}

® oPQRS = 12 o]t}

® 37§ @ 47§ ® 57

@ 270

@D 1 74



10. ojxtgty = %x294 I 919 £ 3 A, Bl tiste] A 9] FHu=
(4,8)°]1, B xF&E= golth. A A, Bl A2 xFofl 4
AP, BQE J°9HAP : BQ=4 : 257} 9t} o] ofj, PQ o] Hol&
Tstofet,




